RASHTRIYA INDIAN MILITARY COLLEGE, DEHRADUN

ENTRANCE EXAMINATION - JUN 2021
SUBJECT: MATHEMATICS
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Instructions:
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1. Attemnpt all 30 questions. Write your answers separately on the answer sheet to be provided at
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the exam centre.
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Part ‘A’ contains 20 questions and each question in this part carries ‘Five marks”.
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Part ‘B’ contains 10 questions and each question in this part carries "Ten marks’,
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Use of Calculator is Prohibited. Marks will be awarded stepwise.
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Take the value of mas =/ @1 1 2 farfom |

The question paper can be retained by the candidates post exam./ T8 & 915 GOERf J¥9 03 &1 o o
Hadl & |

PART A (20 x 5 = 100 MARKS)

Shyam was asked to multiply a given number by 5/6. By mistake, he divided the
given number by 5/6. His answer was 55 more than the correct answer. What
was the given number? / vam Fr &t siw=ar 1 5/6 & o =7 F e 7 ot & 39 3w
ST %1 5/6 & W ¢ Fram af? Iwe T w6t 39 ¥ 55 At ar a7 aveafas dear A #17

What is the highest four digit number which is divisible by each of the numbers
16, 36, 45, 487/ == st $it wad T Ay 9 FL AV 16, 36, 45, 48 F FrafEw &t dn

12 people can paint 10 identical rooms in 16 days. In how many days can 8
people paint 20 such rooms?/ aft 12 swesft 10 w71 i 16 7 & T #7%q § &7 8 syr=efy 20 7
FAT &1 fhad f2f 7 O7 awag?

The four angles of a quadrilateral are in the ratio 3:5:7:9. Find the angles
separately./ Reft sedsr ¥ 1< FiT #1 srara 3:5:7:9 &1 F0 F 7T 77T Ffom

Find x if []_5}{ L = = [E]Bx

eoneren [ B <

a® — b® = 81 and a — b = 3 then what is the value of a? + b2
Ra®—-b¥=8lMa—b=3da’+b?smamsh

Find the smallest number which when increased by 17 is exactly divisible by both

520 and 468./ a7 waq =@ife wear w9 Fiford ey 1?131%%3352&3111455 7 gofa: R &
AT 8



Q8

Q.9

Q.10

Q.11

Q.12

Q13

Q.14

Q15

In how much times will a car, running at 50 km/hr cover a distance of 500km if it
stops for half an hour after every 100 km / af u= 50 faft aftr iz ¥ wfa & sy anfer e
v 100 Fft ik 2t @ % 7 % e et & A 39 12 A 500 Rt B gf ww o & R awa
i |

Two train running in'opposite direction cross Shyam standing on the platform in
27 second and 17 second respectively and they cross each other in 23 seconds.

The ratio of their speed is?/ Rrafra fem & w=ry areft 3t &7 #rer: 27 ¥ ol 17 79w 7 =zwid
TT 'R AT FT T FOA £ 79T I UF 3¢ B 23 FHe 7 < 7701 §1 I 9 F7 s www Fw)

The volume of a cuboid is 5184 cm3. It can be cut exactly into either 3 cm cube or
2 cm cubes. The ratio of the length of cuboid to its breadth to its height is 4:3:2.
Find the dimensions of the cuboid ./ ws =wms %1 sraww 5184 A4 §1 T A QA 57 & 3
ity 2 A T W & e o A & vd geht srerd, <verd st Serd F s v 432 g AT
A B e s RS

Evaluate / a77 %%
xS*n X (xz)3n+l

From the adjoining figure, find the value of » / 2 g% frr ¥ 3¢ %1 7r v v |

Simplify / st ¢
84 — 7[-11x — 4{—17x + 3(§=9 — 5x)})

From the adjoining figure, find the area of shaded region if AB=8cm and AD=6cm
[Take pie = 3.14] / af% ¥ w3 argt ¥ AB=8cm stw AD=6cm # 1 ¥&fw mr &7 srrer
e e | [ arg w1 A 3,14 A

A / 8
'
!

By Selling 90 ball pens for Rs 160 a person loses 20 % . How many ball pens
should be sold for Rs 96 so as to have a profit of 20%. / af% u= =afes #1 160 77 7 90
ater 3 A 9T 20% 1 FF A § A1 20% FT AW W @A FAd 39 =wftE Fr 96 FF F Fwwr ater 0w
v g
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A 125m long train travelling at a uniform speed passes a stationary man in 3.75
seconds. Find the speed of the train in km/hr. / s aft & s=fa gz us 125 i st 3w
gf2 uw e affn it 3,75 #e & < ot & °7 37 o T ofe Refiyser & sma %€

The sum of the digits of a two digit number is 6 and its ten’s digit is twice its unit

digit. Find the number. / af% fft 3 si=t % dwar & 31 &1 971 @12 6 1 Ud Ta7 2@TE 9% IT%
SFTT % & TO[AT BT AT I AHAT B ATT F4

Divide:

6x* —11x* +7x+5by 2x — 3
aT E:
6x3 = 11x2 + Tx +5F 2x -3 &

Identify the rule and find the missing number in the place of question marks.
vy R % v w3 W /= 9

13 4 165
3 2 7
7 11 14

Identify the rule and find the missing number in the place of question marks.
v = ¥ wara o o w03

41
47
9 53 ?

43

PART B (10 x 10 = 100 MARKS)

A can of oil was 4/5 full. When 6 bottles of oil were taken out from this can and 4
bottles of oil were poured into it, it was 3 /4 full. How many bottles of oil can the

tin contain? (All bottles are of equal volume)/ &= =1 w% z=1 4/5 w7 W27 3r am) 17 3
TS § 6 T A AFTAT TUT 4 TAF T TAT I, A9 TH T4 § F9 3/4 I I9 74N T A F Py
A A A AFAT &7

Divide Rs 8000 into two parts such that if one part were lent at 7 % % per annum
for two years and the other at 8% per annum for three years. The total interest
received is Rs 1416./ % 8000 &1 a1 W # 38 WL Fifew fF waw v 41 2 a4 Fow 7 1%
% i{ﬁiﬁfﬁﬁmqﬁmﬁ?ﬁ#ﬁ%%{a% F1ft =gTer it 3T H TN T 9T FH 1416 AT AT
YR &7 81

Solve/ &= fFfom
x-1

dx—1
—_—— =3 e
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A train passes 330m long platform in 40 seconds and a man standing on the
platform in 18 seconds. Find the speed of the train in km/h and the length of the

train in meter. / o =TS 330 #f s SrrwEnt #t 40 % F aU7 et 9Ty us AR A 18
e 7 Qe FAt ) et £ fefyrder § afF oF diec & s=rd w5

Priya got married 8 yrs ago. Today her ageis 12th times her age at the time of

her marriage. At present her daughter’s age is ith of her age. What was her

daughter’s age 3 yrs ago?/ firar # orft 8 a1 e g€ o 39fF adwr 9y 3wF ondt F www K
A & 1 29 &1 R gafe A s adww Ay wwfF ag ar 2 g A3 ad of seR AR R aw w7

The following number of cadets from class VIII show their interest in joining
different hobbies club./ &1 VIII ¥ $& %3z Rt gt & @ o0 w91 srq=r 3919
I FA 8

Club/ == Photography/ | Aero Alchemist/ | Art & Craft/ | Music/
e Modeling/ | s=%fire AE FIFE LD
e lLIE R
No of Cadets/ 6 10 5 7 2
¥z i =

Draw a pie- diagram to represent the above data./ I sr=eT 71 wfAfAfee= 5=
T o 97 srdE aA0

16 women can complete a workin 12 days. 24 children can complete the same
work in 18 days. 17 women and 8 children started working and after 8 days 3
more children joined them, how many days will they now take to complete the
remaining work./ 16 sfe=my o Fw #7 12 R & 907 F a5 §1 24 75 398 w7 97 18 Bt g
FTAST gl 17T ARV U 8 qF TAFH FI S Fa gl AL B RAT F o= 3 s oy 39 s amnfmq
ST & A7 o I wF w91 g A B wwy s

A travelled a distance of 61 km in 9 hrs. He travelled partly on foot at 4 km/hr

and partly on bicycle at 9 km/hr. Find the distance travelled by him on foot. / A #r
61 it 1 Tft 70 727 W 9 W WA ) UTR Ay 7| 7 4 Fedirae f oware 7t g sar § o A
T ariwa & 9 Feftrae i ot & g Far @ 41 A g0 = B o g ft e

The dimension of a room are 12.5m x 9m x 7m . There are 2 doors and 4 window
in the room; each door measures 2.5m x 1.2m and each window 1.5m x 1m. Find
the cost of painting the walls at Rs 3.50 per square meter. / u% sw# ¥ smarw 12.5 #t x
9 #t x 7 ft &1 39 T ¥ 2 TaATH UF 4 fRrsfy 1 o TS wars w7 aAm 2.5 #t x 1.2 ft v vaw

farz$t &7 srars 1.5 #F x 191 & a9 F9¢ % RBardr 7 3,50 797 F T & ¥ F77 § 90 A1 AT A9
ffam)

A can do piece of work in 10 days. B can do in 12 days and C in 15 days. All begin
together but A leaves the work after 2 days and B leaves 3 days before the work is

- finished. How long did the work last. / s == %1 A,B,C #er: 10, 12, T 15 Rt 7 ==

ard g| MRl wem N oraw R tafmATm IR 2RI Sz geaaTiva BIw
FIH & FH THIH 714 & 3 B 95 &re Ta1 ¢, °t 9o (R & a5 rd 57 9% 5=m g
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